Chapter 17 Hints and Solutions to Selected Exercises p. 112

Exercise 17.1

a. 763

Exercise 17.2

a. 37

b. 559

Exercise 17.3

a. Suppose there are two solutions, that is, let 
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Hence, 
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Exercise 17.4

a.
Let 
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 Then b=tg and m=sg for some integers s and t. Note that since m is a product of distinct primes, gcd(t,m)=1 and gcd(g,s)=1. By Euler’s formula, we know that 
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. Multiplying both sides of the congruence by t gives 
[image: image14.wmf])

(mod

1

)

(

m

t

t

v

m

º

+

f
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 when exponentiating both sides by 
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 for some integer h. Multiplying both sides of this relationship by g gives 
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. Using the Euclidean algorithm relationship that 
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Using the above information, finish this congruence.

b.
Note that 
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 and the gcd(b, 9) is not 1.
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